0000000000000000000 (06/5/31)

OOoboOoob0 MapleDODODOOOOOOOOoOOoDOOOOoOooboOOoDOoooOoO
gbodbooobobodbdg2bodb obggobbogbodgoooooo
gubbobuoodgbobbooodd

1. (a) sinbr+sin®20 20000000000

(b)

oo 1
——dx
/1 xva?—1
0gddobibl infinity 0o
(c) sinzy, 23 +¢y* —3zy 0 200000000000000

(d)

1 + cos(x)
1 — cos(x)

f(z) =log

000000 f(/4000000000000

2. (a) exp(x)0 x=00000030000000000000000O0O0O0O
oooo

(b) OO0 y=log(x)—2¢0 2x=3/200000000000000000
gbboooogbobbodoodn

3. 20=>5,a=+/3000000000000 f(z)=1/(a®+ (z —20)2) 000
100200000 %=0..10000000000000000000000
0000000000 200000

4. 00
1 a O

A=\ a 2 a
0 a1

O00o00 (13,0000 «0ODODODO

5. n=257000000000 (M,=2"—-1)0000000000 00O
gobbobooooboboooon

n=23,5,7,13,17,19,31, 61,89, 107, 127

O0000o0Db0b0ob00o00oOobD0ob0bOo0D isprime(Mn) OO OO O
00000000000 (trueor false) 00000000 (if0)00000O



